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Warm Up
1) The line y=-1x -10 has a slope of "[5 ;
S5 J *
2T

2) In the equation y= 4x - 3 the -3 is known as V-‘nlercept
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3) Calculate the slope of{(S,-G) (9,6) . (Show work)
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4)Parallel lines have slopes that are what? Sams  6¢ ng&
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5) Perpendicular lines have slopes that are what? ot 905 { e Cec\pté®
6) Vertical lines have slopes that are what? Wnde £1,]
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Attachments

Q  Point slope form.docx

Q  Assignment 1 Slope pdf.pdf



Worksheet 

Point Slope Form







1) Find the equation of a line that passes through the points (-1,8) and has a slope of 2.  





2) Find the equation of a line that passes through the points (6,-3) and has a slope of m=4.  





3) Find the equation of the straight line that has slope m = ¾ and passes through the point (–1, –6).





4) Find the equation of a line that passes through (-1,1) and has the same slope as y = -3x + 4.





5) Find the equation of a line that passes through (-7,3) and has the same slope as y = 2x + 1.





6) Find the equation of a line that passes through the points (3,-2) and (-4,1)





7) Find the equation of a line that passes through the points (3,-2) and (-4,1)





8) Find the equation of a line that has the same x-intercept as this equation   2x +6 = 3y, and also passes through the point (4,5).
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Assignment 1 Slope Date

ID: 1

Find the slope of each line.
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Find the slope of the line through each pair of points.
5) (-3, 16), (13, 17) 6) (-20,8), (17, -2)
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7) (18, 14), (13, -3) 8) (-7,-17), (-8, -4)

9) (-16,-2), (-7, 10) 10) (-7,9), (12, -6)

Find the slope of each line.

1) y=x+3 12) x=4
3 14) y=6x—4
13) y=Jx-1 ) y=6x

Find the value of x or y so that the line through the points has the given slope.

15) (1, —4) and (—5, y); slope: —% 16) (—7, y) and (1, —7); slope: —%

17) (7, y) and (9, 5); slope: 1 18) (x.—1) and (=3, 8): slope: _%

© 2019 Kuta Software LLC. All rights reserved‘Z' Made with Infinite Al gebra 1.





Answers to Assignment 1 Slope (ID: 1)

1) 0 %) _% 3) _% 4) 5

1 1 1 -1
9 16 0 3 D v

4 1 1D 1 12) Undefined
9) — 10) ——5 ) )

19

13) i 14) 6 15) =2 16) 0

2
17) 3 18) 5
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